NC Math 2 Unit 6 Square Root and Inverse Variation Functions 6 . 7

READY, SET, GO!

READY

Topic: Solving Proportions.

Find the value of x in each equation.
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Topic: Transformations of Functions.

Given the following descriptions of transformations, write the new function of the transformed
graph.

7. From the parent graph f(x) = x? the graph has been shifted 3 units to the right and 4 units

5(x)= (w-3)* +L

8. From the parent graph f(x) = \x the graph has been shifted 2 units to the left and one unit
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9. From the parent graph f(x) = % the graph has been shifted six units to the right and five
10. From the parent graph f(x) = x? the key points of (0, 0), (1, 1), and (2, 4) are now (0, 0), (1,

ORI PN

11. From the parent graph f(x) = \x
to g(x) given in the table below.

units down.

X f(x) X g(x)
0 0 0 0
1 1 XYy 1 4
4 2 X 4 8
9 3 X ::{ 9 12

0 (%)= Hx

Given the following parent graphs, write the new function“of the transformed graph that will go
through the given ordered pairs.
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Given the following parent graphs f(x), write the new function of the transformed graph that is
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GO!

Topic: Different forms of a quadratic function.

19. Given the quadratic function: y = @r 5), re-write the function in standard form.
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20. Given the quadratic function: y =x? —2x—4R re-write the function in factored form.

mxf §)(x Hﬂj

21. Given the quadratic function: y =x? + 16x+ 71 re-write the function in vertex form.
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22. Given the quadratic function: y = (x + 2) —4 re-write the function in standard form.

(AR -
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23. Given the quadratic function: y = (x — 3) — 4 re-write the function in factored form.

Y= (1'33(* Y Eﬁ (x-5)x-1)
Y= NGAREE
24. Given the quadratic function: y = (f— 5[1% —3) re-write the function in vertex form.
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